N = 0l & At & Ml A

20212 = =0 & LA N2t

2N N2

=L B ESE-PIEE

ool MEE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ml 2 It 829,052 1,222,222 A 393,170
= 26,996
< 89,271
Al 712,785
At=TH&E Dl Bt &t gl 778,412 1,143,742 A 365,330
= 26,996
< 89,271
Al 662,145
M=&2 -s3&= 778,412 1,143,742 A 365,330
= 26,996
< 89,271
Al 662,145
PNR=ADL (=] = PSS 187,118 188,482 A 1,364
201 et 168,556 168,220 336
01 At 22l 38,556 38,220 336
O0CRLXNIA &8 ¥ SEESH|
(652 %300,00001 )+( & = = X 900,000 ) 20,400
OXZAN EMEAMSE & =2 & =AHI|
300,000& »12& 3,600
OXNgNEEg S AREM 2 150,000& 8% 1,200
OXEgAN 228 &2 M= 500,000& x53| 2,500
OfIds &4 100,000& »10H »23| 2,000
OXNEAMN RELGRIXNAN L3 ZEH EH 2
250,000 *8H 2,000
OANEDNXNAM € ¥ =2
100& +3,0000H 300
OMAXNLASAH &8s ADHE FH S &
=22A A 1,000,000 1,000
OANHdE Xtz 5,556
-SIJI&8EDI 40,0003 =301 =12 1,440
-d == 43,0003 x1CH*123 516
-SEII(DXNMN &Z5) 300,000& 10«12 3,600
02 =24l 130,000 130,000 0
OFI & A2 DANANLESE S 2ER2
80,000,000& 80,000
OMEIXAN & U2 &8 RERS
48,000,000 48,000
ONJL=2ZAE S ISR 2,000,000& 2,000
202 O4dl 2,000 3,500 A1,500
01 = LH 4 bl 2,000 3,500 A 1,500
ONEgRESHHI 2,000,000& 2,000
203 YR =&t 5,000 5,000 0
03 Al =AY R =& 5,000 5,000 0
ONS AIZZ=AHR =AY 5,000,000& 5,000




2AM: N2
M NHFME | BHEE
ool MEE A (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 5,000 5,000 0
12JEEd=S 5,000 5,000 0
OXZN dAGMNI X223
(50,000 30 )+(30, 000 *50 )+(20,000& * 5,000
100€)
306 £ 3 5,749 5,746 3
01 &3 5,749 5,746 3
OXNEHNHARA EAHS 5,749,000 5,749
308 XXl EHH SOl A 813 766 47
07 HIXNHHARS = 813 766 47
OX&AH Z2AE2H RE= 813,000& 813
NENE 225 2el 202,084 167,277 34,807
201 ¢er2d| 21,220 13,160 8,060
02 =224l 21,220 13,160 8,060
OXZAN - M+ Mot X2 14,120
-A&&Edl Sl 220,000 1228 2,640
“JbAHE = AIAE R E= 8,180,000 8,180
-NgEESgHeANAE FRNES
275,000 »12& 3,300
O2NSHY d83ld 2 HHlXtd (Of el X e
ASH S ADMH) 7,100,000& 7,100
308 XXM SO0l A 40,360 49,115 AB,755
N 3JN2SUHUeBAHAE AR 40,360 49,115 A8,755
OEZXNLNEZSANLY RANES
17,870,000& 17,870
OSSANLAM(ABA)FEANAE SAE=
21,742,000 21,742
OLMSEAMNLAE SXNES 748,000& 748
403 Ut S E X201 & 140,504 105,002 35,502
02 SO 2SO HEHAHE X 2| &AL H 140,504 105,002 35,502
OXLMITH XN HEALAE A=(20219 %)
140,504, 000& 140,504
Nel=g &= 124,087 115,273 8,814
201 et 23,320 18,740 4,580
01 At 22l 18,820 18,740 80
OHM2 =& DXA eIl 70,0003 208 A 1,400
ONA=LESEHE E=HH
90& +28,000A 2,520
ONI=AMEN AEFHE Ol82(HY)
2,700,000 2,700
OFTLFZACIALAHE 0O/22(AHY)
8,000,000& 8,000




2N
NS E< PRI =

el

X ZH
S =

A= 1

H=28 =285

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMXNARUOH £33 0lE2(HY)
2,200,000 2,200
OM=g nEeizg & SE22HE
2,000,000& 2,000
03 A2 Z Hl 4,500 0 4,500
OAMe+= g5 AIS 4,500,000& 4,500
303 &3 12,000 15,000 A 3,000
01 243 12,000 15,000 A 3,000
ON+=gd= L&z 3,000,000& 4= 2| 12,000
308 AAIEHHSOIA 21,389 21,389 0
1132 SoHUHSBHEAEALS I 21,389 21,389 0
OEZMA+UFBALY SN+
21,389,000 21,389
403 A X EHHSH=0IA 67,378 58,444 8,934
02 SO 2SO0ICHeH A2 X 2 & A I 67,378 58,444 8,934
OXAIO XA+ BEBAAY AX(20214
<) 67,378,000& 67,378
HEFEINZE SAAY 53,992 56,920 A2,928
= 26,996
Al 26,996
201 2et24d] 52,392 52,120 272
= 26,196
Al 26,196
01 At 22l 50,592 50,320 272
OMNEFEIA S8 44,592,000 44,592
= 22,296
Al 22,296
ORSUINATAARNE 99 BH2Y
2,000,000& 2,000
= 1,000
Al 1,000
OMNE =EIIA T AL LBt H| 4,000,000& 4,000
= 2,000
Al 2,000
02 =24l 1,800 1,800 0
OMg =8 dNEH FANES 1,800,000& 1,800
= 900
Al 900
202 Od4dl 1,600 4,800 A 3,200
= 800
Al 800
01 = LH o4 1l 1,600 4,800 A 3,200
OMNE=EDIA SHEA Kbl 1,600,000& 1,600
=2 800
Al 800




2A: MR
M NHFME | BHEE
el MAEE LAAS (e
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
KA e FAs =& 36,480 56,200 A 19,720
201 £B-2d| 36,480 45,360 A 8,880
01 At 22l 34,480 43,360 A 8,880
OXNYHAAHAAE AABE 14,080
(HEEEMNES 3,960,000 3,960
RPN =Ry 7,920,000& 7,920
“MEOOIHYSS 2,200,000& 2,200
OMEIXNAN & HRAUE SS9
1,000,000& »12& 12,000
Ogxl &¢I sez 30,0003 *2CH*12& 720
OMEgXE =8 S 200,000& 128 2,400
OMEXSEXNILAAE RIE=H|
440,000& =122 5,280
02 =224l 2,000 2,000 0
OMEd=Z2 g 2FKRAHl 2,000,000 2,000
NEA M= ML A A X2 170,760 544,956 A 374,196
< 85,380
Al 85,380
101 14 Hl 170,760 544,956 A 374,196
< 85,380
Al 85,380
04 JIZHHZ22XRHEE S 170,760 544,956 A 374,196
OXEAM M=+ MR AEBHEA 02 170,760
A==] 10,5403 » 15 x6 Al 2t+96 91,066
< 45,533
Al 45,533
-=FE 10,5403 15 6 Al 2H*20F 18,972
< 9,486
Al 9,486
-AXNFRESF Y 10,5403 <15 «6Al 2t+3L 2,846
< 1,423
Al 1,423
=20l 10,0003 »15H 96 Y 14,400
< 7,200
Al 7,200
-YE F Ot 500,000& x15H 7,500
< 3,750
Al 3,750
A28 s S 35,976,000& 35,976
= 17,988
Al 17,988
SHMgN d=2s X 3,891 14,634 A 10,743
= 3,891
101 @144 Hl 1,000 2,500 A 1,500
= 1,000




2N N2

LRSS E-BIEE

ool MEE A CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 1,000 2,500 A 1,500
OME X AMEHZAL JI2HH 22X T =]
500,000& 500
< 500

ONMYEA AEHZAL JI2tH 22X wSH S

500,000& 500
& 500

201 fet2E | 2,091 10,100 8,009
& 2,091

01 AFR2t2l ] 2,091 10,100 A8,009

OHME X AEHZA JI2tH 22X HE HE

=g 200,000 x3H 1 600
S 600

OMEX AEHEAMN MY S22 MH

1,000,000& 1,000
& 1,000
OME X AMEHEZAL ALY A2 FHI 491,000& 491
= 491
202 o4 Hl 800 2,034 N1,234
< 800
01 SLHOHI 800 2,034 A1,234
OZMMEH =25 04l 800,000& 800
& 800
HE2HZH (M) 50,640 78,480 A27,840
Jl=2 3 (M=) 50,640 78,480 A27,840
22l (M=2t) 50,640 78,480 N 27,840
201 LEt2A | 18,000 18,000 0
01 AtR 22l | 18,000 18,000 0
ORN2E AR 22l 18,000, 000& 18,000
202 Oddl 27,840 55,680 A27,840
01 =LHOI LI 27,840 55,680 A27,840
OJl2gea 0t (29%) 27,840,000 27,840
203 ¥R =&l 4,800 4,800 0
04 2N s 4,800 4,800 0

400,000& =122 4,800




